O WAl o] 5 24

A2 AL o AJY7L?
104 +1.3
O 24+0.3 @ 72+09
@ 19.2+24

@ 84+1.2
® 4806




= % 5.78+ 1.7 ¥ 5o] 2 Z2 ol AAY7E?

D 0578 + 17 @ 57817 ® 578+ 17

@ 578 +17 ® 5780 + 17



3.

233.1 = 63 = 3.7 Y2 o] 85l YAl &

SHA 2.

2.331 +0.63

=
=%







TR UReAle AT 02 Shure AL ol A1 BEA Q.

4.1)16.7
16 4
3

O 41x4+4+3=16.7 @ 41x3+4=16.7
® 41x4+4+03=16.7 @ 4.1%x3+40.03=16.7

® 41x04+0.3=16.7



. <EE =E YEyALe,

16.1+35 O 16.1




SO e oz TN AR

SHA ..

295.2 + 36.9




8. e FHoll2HrhE AL BE 12X,

D 66.88+3.52 @ 2+0.16 ® 42.14+4.3

@ 62.16=-8.4 ® 16.02=3



9. o F B UHATL ARE AL ol A D2AS,

@ 8.356+58=1 ---2.556

@ 8.356+58=1.4 ---0.236

® 8.356 + 5.8 =1.44 ---0.004

@ 8.356 + 5.8 = 1.4406 ---0.0052

® 8.356 + 5.8 = 1.44068 ---0.000056



10. 92 4172 Wl o), £& &5 A A7AK] FHS o] L
A5k & 45 BA ALK T o] Lol A| 9] AHE FokA 0.

D
=%



11.

47k shhE ZAsHE dl 1.3m o] A Hlo| Zh AbgHTh gk
124.5m o] A} Hlo] 22 FA-5 st glsych A 7t 43715
AT Yo FAE o 2HFE 5 91, @ m7t EEA
A= 2AL,

alél-: 7H
B n



12. e % %ol tirojx Surt 2 4

D 2.8+56

@ 7.6+12.45

@ 46+04

® 8.1+1.08



13. 20.64 2 oW 52 thiro] & 25 B4 A7k oty Fol
478 12, vl 217} 0.004 0] iU Tk, oW St dntelx] 75tA)

Q.

D 5.8 @ 6.2 ® 6.24 @ 6.5 ® 6.64



14. Eol7F 225.28cm? Q1 v Atthel& 9] #0l& F5HA L.

_-16.4cm- _

~ ~

L]

2925 28cm?

_I\
~-18.8cm--""




15. oA BRAL 77.72kg 0|11, A4L 33.5kg YUTE A9
Aol BRAZE Aaol BRAC 80% & wf, ot 2] o] BEAE= A
Y BEA Y] H A F5A L.

> R £l

=
[¢)

s

e



7N



17. o' $E 47 2 o] 5L 25 A4 A=)7HA] F59E Y 3.6 02
U217 0.33 ol9lsU . ofH 5 7oA L.

D R
=%



18. ol mlehE 47} 42.195km & 2 A7 10 & 30 X0 @3S U T
o] A1 Bof oF H km¥ €9 AlQlA] HH-235te] 44 A

2717 GepfAl 2.

ag:% km



19.

7h w5 AL A S 371 ds U 7Ee] s vl A1 0.4 o] A,
oto] FAE vl FAC] 0.8uidutt. Al 5] FA12] ghol 27.5kg
o o, o FAE FoHA L.

> R kg



20. ofH 524 = ol fi5 24 A A= 7HA] F5HH 590141, Ha

A BA) A2 7HA] FobA 5.95 YUt g A A A= 7EA]
o, 4o 27F 2 == e

G % % 0 0] ol 71y 2e 45

D R
=%

ke1g
=

A 2.



